AREA OF ATRIANGLE Area Of a tra peZium oW -‘-“ﬂ'_tlﬂ:__-‘:\\ S_Q.U.QLQ_LO_OJ 7 72 t:
' a =22 = ' 72
Cross- i 2x2=2 4 72 interior + exterior = 180 degrees
1 - 72
: ' Therefore /4 = 2
section hi h ALL exterior - add up to 360 degrees
i Cube root
length . \ 3_ _
” = b 5" =5x 2 x5-27 Each interior angle = Total interior + number of sides Angles on a straight
area of b 1, ! . ’( k Therefore 27 = 3 540° = 5 Anales in a trianale add up to 1807 line add up to 180
Valume = = h 4 = — = = . . .
cross-section g 1) x base x height A " (” + ).) ' = 108° Z:f:"i‘:r: ::rr}:er of sides if you know
- ] : T 1 AM_ ~ 2 . 9% pumber of sides =
2 5 +1 4 54 . rea= ;Tél Trlangular I"Il..:m bers ..' Total interior angles = (n-2) x 180° 360 + exterior angle
11 =The gradient or slope  Ciis called the ¥ intercept T \X T 4,5 Circumference= 7 ™ o0 oee where n is number of sides
-2 20 . -
wholes” Parts When multiplying ® e it eece = (5-2) x 180°
y=mx+c vhole = 2| diflerent signs give you - same signs give you +| 1 142 1243 1424344 = 3 x 180°= 540° Angles srund s it
. 1 =3 =6 =10
L T TR PR Plotting the graph of y=2X+3 5 e e . . —
GRADIENT = m '? =2 x-lol1]213 3 20 Square numbersg 16 ) lhtrnnkug:E_[r!)nnlhewm Corresponding angles { FCORE) are the ::::‘:;‘:’1:[’;}"“ (€ angles
2x101214 1|6 Divide “+* Keep Flip Change 4 1 plht 20.5 |.tr 10mm= 1cm .
+3+3[+3[+3+3 R~ (- =—2x—2=4 1 1gallon~4.5Itr 100cm = 1m 120700
3(5(79 AV S . 1000ml=1Litre 1000M = Tkm
Lafslzlo] Igeg s g xT =T (-3 =-3x-3x-3=-27 |[ e Tmile = 1.6km
ot (0,3)(1,5)(2,7)(3,9 tor/[ = = i o
Check: straight line? 9 1" um_em | sue and Jane share sweets in ratio of 2:9 1x1 2x2 343 4x4 1000g9= 1kg ?km h__ 52I1;I|es 50
A‘:.O’smm -y mi::,mmm:::;s -4_ = 2:‘ remainder 1) What ﬂ'acti:ngoftld'l: Z:V:et‘ls‘ldoes Janereceive 7 ['A length x, rounded to nearest 100's, 500cm. 1 ;:gt : 36 C‘I:‘:1“ Z S N e‘ Q j t F | J ﬂ f
Add the numerators, denominator the same . 9 a = . . =
o .. Denominator| 5 3 fraction 2. 9 i %r(;Feadgv—w;;he er(r;:ir mtjrval!-t t 50 to 500 2eh2 =02 i oS
) 2 17 iy Jane rece"’es% s+2 =50 so add and subtract 50 to 500cm Pythagoras theorem a?+b? =c2 (hypotenuse) ;f'9°;‘°m7ttry ratios  y for Hypotenuse
Add o Subtract “» o -* with different denominators — _ - Iné / Cos/ 1an
- e A = ii) Share £44 in the ratio of 2:9 450 <500 < 550 f | | | Add to find the longer . O for OPPOSITE
: 5 =3 sh e 450 500 550| cige ti"ftawa_ydt" find the | 5oH caH ToA Afor Adjacent
" I . . |:[[[[| |]]]I| [[l]]] I]] 2+9=11 dij ifnju A number y, rounded to 1 decimal place is 3.1 Shorier side i o a
(wherecth=e “3M L %4 120 120 12 ; ; b £44it_+1|1= 4t' - d I“' d tl Write down range of numbers s N
the y axis) i "::::" " . Ix2% = 3% muz |:y ratio by d i 0.1's+ 2 = 0.05 so add and subtract 0.05 to 3.1 a=8 n
the numerators, the denominators, then : '—I_l N ~
w y oo s e P 305<3.10<3.15 305 310 315| =15 ° e OFP HYP
| 2 . T T W B S T T B 4 it a Bac Zx % =% . v y : ) : c="7 step 1 LABEL
14 3 6 18 9 Do the multiplication as Improper Fractions check: 8+36 = £44 as asked Hint: G|WGYS +/- 0.05s/0.5s/5s/50s/500s 82 l S,, 15 Ilft:ll to type the l()nger one ﬁrst Step 2 choose ratio
- ' - tep 3 subin
|8 +15 =17cm 5 2=24269.. |° .
Craig goes on haoliday to Hong Kong. In Hong Kong, he GC SE FOU N D A I I ON PRO BLEM SOLVING 1l 25 - 6 =243cm 1d_p step 4find the missing value Adj

sees a camera costing HK$3149.55. In London, an identical
camera costs £280.The exchange rate is £1 = HK$12.30.
Craig buys the camera in Hong Kong.How much cheaper is

5-1 I am going o NPACK | ... cicuawor increasing o Ho[s2] = 4 [=2

2cm

matns

: : o, Increase £60 by 12%
the camera in Hong Kong than in London? m “hs m m‘. 39% of 82 Chof\ge toa X
" b.e = 0.39 x 82 decimal and 12% of 60 = 0.12 x 60 = £7.20 5 sin 30 = X x2

£1 = HK$ 12.30 . o X multiply ¥ ] ‘ X

%280 x280 UNderli UN New amount = £60 + £7.20
Pie chart - NON-CALCULATOR Blain 46 25 x360_ 1150 e \ UNderstand . = g67.28 > A 2sin 30 =X
£280 = HK$ 3444 Uk price @ Total all the data 144 - important what the fraction to %
. 16 _ hh : L x5 t 1em=X
Cheaper in Hong Kong ® 360 + total = each person's angle Chicken 1 4AAX360 = 40° & T"::tlon | qugsﬂon 2 15r}5 ercen ages decreasin i I
or ® cach person's angle x data frequency Salt & Vinegar |22 22 y360 = 55° e Kisingme: 20 = 00 = 7% g Remember, with money| | Remember, with money
HK$12.30 = £1 each = 360 +40 = 9° degrees ) 144 guestion. — OR £103 = 3= £34.333 49p = £0.49
Xx256.06 . - x256.06 Colour Red [Blue [ Green % Oth total || cheese & Onion | 26 %36":): 65° _ 15 = 20 x 100 = 75% % 12% of 60 = 0.12 x 60 = £7.20 ||| round to 2d.p £34.33 2040p = £20.40
7 .

- . l | o — :
M ey o epnee [Bheteseld gD XD KT X 9= 40| [ snakey socn |34 24 4360 85° [ — New amount = £60 -£7.20 Compound interest- CAL CULATOR
o o = C . . .
eaper in V\(I):tge ;Tgof — ngles 180 90 27 63 Tord ™ 143460,, rT— NI o ofiihe B John invests £220 in a bank account which has a yearly 7%
£=1{1.2.3.4,5.6.7.8.9.10. 11, 12, 13, 14, 15} ; - nth - X 4 SUBTRACT | i\ 1erest rate. How much money will he have after 3 years?
. 31 In the A circl | Linear sequence -n term We work out the angle for each sector using: 25% - half and half 5% - half 10% 3 years 269 9 269 51
A= {multples of 33 In The A cirelo only 5 g ki -g o= Hint: BEfPLgnce Ieueney 360 75% - 50% + 25% 20% - double 10% = 220 x 1071 79;. 69.50 ; £7 69.5
ANB={3.9, 12) where A and B overlaps OCS =N < N Total frequency E — — 00 + increase= 1.0
3 — — — rea

th — — 2
AUB={L.2.3.6.7.9.10.1L 12 14,15} @ 5; f e ’+25 ---------- OTterm e d 20t term = 552 = 5 x 26 -2 Recipe - CALCULATOR Recipe - NON CALCULATOR sector =T , 2°=1 a=1 power of zero = 1
Draw a Venn diagram for this information. Difference 5 - 166-2 =92 Ingredients for 18 mince pies ] Elaine wants to make 45 mince pies| For 6 people 3people For 9 people 135 7x 5 , : : a_z 1
N N . X 2.5 =562, 5Elaine has 360 2= = -z
4 5 8 13 RULESN-2 - 2wt 1 ke of butter EW AN L1d <2 150g |450g g of Sugar 2 . a
p 2 onterm -2 Is 204 on this sequence‘idcfljg—z = 204, o et o 1 kg of flour zsog fl & 37‘59‘gﬂ & - =29.45243...cm? 2 4 Positive power
o1 N _ 280 g of mincemeatX 2.9=700 238:3‘{:5:3’““! g our n@ >4 griour é\ =29.45 sz I — —
SN 7 Y wys 2O%ys | e ess Ui 2 eggs +2 fegg |3 eggs Bem e a: =i =
9 | 2 ' h= a2 45+18=25 N C=nd =\ d =\ d squareroot
\ \ ‘ 11/ C1al ) ) Does Elaine have enough ingredients? Half 6 people recipe to get 3 people 135 1 /
15 12/ 10 / No! Not on this sequence as not @ whole number |\q she does not. Not enough mince meat Then add together 6 people's + 3 people's Arc length= x7 x 10 251 = \ 25=15
S T Kian wants to survey 30 pupils from year 7, 8 and 9 ABCD is a parallelogram. Opposite angles in a parallelogran 360 T = =
4,5,8,13 are neither in A or B hence outside about their opinions on school uniform. B ~ are e | e300 = 3 - 11.780972... N E— \ a — \: a cube root
~ . - - — 1
REVERSE PERCENTAGES y = . 13 X5 Ao v ity _ e from both sides = 11.78 cm b Vo7
In a sale, normal prices are reduced by ear 2 -5 o both sideg g +5 to both sides Perimeter= Scm + Scm + arc length \
. . = x _ :
15%. The sale price of a CD player is £204 Numbtz‘r' 80 70 90 _ =21.78 cm Greg is 5 years older than Sam.
Work out the normal price of the CD of students Co—interior dng."es add up to 156° Mr Smith works out the cost of the gas he Carol is twice the age of Sam.
o . used last year. At the start of the year, the Their total age is 45.Find Sam's age
player. 100% - 15% = 85% He says picking 20 students from year 8 will be a Sy —13° +3x-5° = I176° meter reading was 8259 units. At the end . X ) : :
85% = £204 good representation. Is he right? 2x+36° use x ~cb1° of the year, reading was 9854 units. Sau is wentioned tuice.
T . - g = Let Sam's age = =y+5 Carol=2
1% = £204 adding up all the students O+760+G0 = 246 A . D Sy 13° +3(44)-5° 126° Each unit of gas he used cost 41p. awsage=y Greg =y ’ =2x'y
=35 X100 gear 3 there are 70 out of 210 Find Sy —13° +12.3°-5° = 130° Wor out the total cost of the gas he used. Total=p+y+S+2y=45 4
_ x=_ add all the nunbers B ° 2n GFS4 punit = start 259 unls ﬁ,+5=45
£240 ¢ year 8= 70, 3p =5 75~9 ﬁd‘i * s le size y= SJHQOS; =120 G854-5259 = 1545 unts used 5 -5
new amoun - ulati = ° 41y - _
Reverse %= —:yx 100 240 . = = 555 7S s Ttal cost - 1545 x p.41 ©S €0, +4‘gy =49
new No. Kian needs to cloose about q students y = 15° - £653.95 Z y= 10






